[ Efficiency vs vertpos |

~ 0.4

SZ0X0): SERRRRIR ERRRT PR

o F : :

O e S B

(8] F . .

S0.07F-+eeerfieeeseees TP

S E : :

e e A s
0.05F -+ Fooeeees PR
0.04F -+ oo ool
R S I
0.02F -1 R SRt SR e
0.01 oo fiereeefoene N R

o +eF - :

I r :

o L

1_— ---------- P R P R 2 D S

0.95

1072 107 1

10 0
TP vertr (cr%)

2

Efficiend

—=— DQM_TT_time_newbranch

—— DQM_TT_newbranch_time_pLess

~ 0.2

00.18F------ —~ -------- .
o E : : : !
>0.16----- R TP PR PPN Feeeeennd
> : . . H
2 o : : : |
.90.14_— ------ R
o C : : : :
E£0.12---- P CRTPEPER PR
o : . . H

0 SRR R S -

..........

..........

O e R

0.0Bf <+ crerneeerinees
0.04f oo heseesee P
0.02F -+ hermerdooeot e

.......

...................

L 0OF

Ratio
N
T

0.95!

[ Efficiency vs. sim PV z |

10 20
TP vert z (cm)

N 0.
>
8.0.09
£
50.08
20.07
oy
20.06
R
(&)
£0.05
(]
0.04
0.03
0.02

0.0

o] " EET

.......................

......................

.....................

.....................

FRVS)

Ratio

iy
TTTT T T

210 1 2 3 4°5

Sim. PV z (cm)

30




	Contents
	Page 1


